e == —1
Mass damper 245 S¢t 150=29

Bl & : ID(Inhan+Dongmin or Intelligent.Design)

2011012238 Z @lok
2011012324 A =4l




Contents

1. Mass damper?| 2|0|2} E QM
2. H{ZE X|4]

3. Comsol2 0|28 A|AH pEizal
4. Beamoj M= E 3l Stiffness=™

5. Amesim= O0|£9%l Simulation
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Mass damperzt?
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1) CantileverQ| X %!k
Clamp L > l, diSplacement7|- PO'” HlE:”'cl)'l-E %I:OI:!% Ol_g__cn)_l_nlj
v Unloaded Beam 4h F= k*u A& &E23510 K-matrixs __I.L'c'SI- 2 oICt,

.

Loaded Beam

PL? 3EI

-------- p
O =3EI Tk » k=—

2) Beamo| 1 Q354

Zl2k I E2IAE MO|2t 2 Stiffness OfEZIAE K2t g [, Beam o] 18IS = MIKQ| eigenvalue
o eigenvectorg 0| &%t e 4= UL Of Ij elgenvectorf XNEDCO|AMO 2t Rl2ko| XIE HEJES LIEFLHCY.
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3. A AH D

- . 7H41) X X|tj= 232[EV} ot A= =x
X220 7| : =rC} o
1) 2XE°| 37| : 10m X 10m X 20m (1=&F 4m) JbE2) 2d Bl ZE2 A

2) Steel FX|

E = 210Gpa (Steel)

Section height: Section height;

VvV = 0.3 h, 06 m h, 03 m
p = 7850kg/m3 Flange width: Flange width:
he |02 m h, 03 m

Flange thickness:

3) IE-I% :I'I'ZF— t, 0011 m

Flange thickness:

t, (001 m
web thickness: Web thickness:
7| & (vertical) : H - 300 x300 x10 x15 = 00 Tt ous m
H (lateral) : H — 600 x200 x11 x17 :, .
4o 3 4. H 3
h t'-"_l ~ ! N t-’._} <~ &
t y ' T Ty
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3. A AR B

4) Hi=to| sk Ol LA x 7 F
7| Mo oot A F

Fair=%*CD x Axp=*V? = 2450N

(Cp =1, A=40m?,p = 1.225 kg/m3, V = 10m/s)

pE Z20E EAVIES 7|2

Ol& S5M/S) | SH F
0 kel 0.1~0.2 A7|7t e=2810| SHiz 2214,
1 | =HE 0.3~15 Ot ofst Hrato 7|7t &
2 HaHE [1.6~3.3 Higho] €20 L/AE. LIR7HK| &=
3 [ MEt [34-54 LR QT o/ AL AR BEE F
4 ASHg [ 5.5~7.9 BXZt €0 F0] £20] L2l
5 SEHE | 8.0~107 =0 =Z20| €0 A0 FYT ASLIT TN S58
6 Elepet 10.8~138 | 2 LIZ7HXA7t 22| 42 BX|7| 3=,
7 Aiepzd 139~171 | Z7] g1 2 LT N7t =2
8 = 17.2~207 | A2 LiF2F 0|0 Z0Of Z 57t 88, 777
9 =AllErEt 120.8~244 | Z4=0f IBiot 284 S 7| HAK=E S
10 | -CH"t2t | 24.5~284 SLEZ7F A8 X|1, HA20| 24 F. T - A A H
T e[ o55576 | U Bl Hen AL SO BEOI HEo| PL=A : Fixed constraint
12 | asHEEr | 32.70]d ZOE COF 20128 Fe2 AXNL Ofd.

<EIE 2% A3 =>
5) 1= 2707} FI2 LIE E[0{QU= HEHY |

Fops ERE 48 > F = Fg/2




4. Beamol| M2 S5t HE Stiffness=X

20 |
e —
COMSOL®°| 2d beam | M 187
16 |
1) Geometry 147
12 |
Bezier Polygong O|83l0] L XE9| HAS BT 107]
8]
6
4]
2]
0]
27 0 5 10
2) Material & Cross section Specification
Section height r——
Young's modulus and Poisson's ratio - P 0'5_ " hy (03 =
T Flange width:
G=0GIE, h, 02 m :
( v) Flange thickness: he 03
Young's modulus: t, ool m Flange thickness:
E | User defined - \:"jbt;i;:;m i \:;b tcr:itness:
2100 Pa t, (0015
Poisson's ratio: .
v User defined -
ty
0.3 1 " N
Density: .
P User definad -

7850 kg/m?

£ Bézier Polygon 1 (B1)
|~/ Bézier Polygon 2 (2]
/' Bézier Polygon 3 (b3}
/' Bézier Polygon 4 (b4}
7 Bézier Palygon 5 (b3}
7 Bézier Polygon 6 (bé)
/' Bézier Polygon 7 (b7)
/' Bézier Polygon & (b8)
/' Bézier Polygon 9 (b9}
7 Bézier Palygon 10 (b1
7 Bézier Polygon 11 (bi1)
/' Bézier Polygon 12 (h12)
7 Bézier Polygon 14 (bi4)
/' Bézier Polygon 15 (b15)
Bezier Polygon 16 (b18)




+ Force
Fp User defined -
2458372
N
1]

4)Mesh 5! Study

Zf A0rEF 5702 28 48

+ Distribution

Distribution properties:

Fixed number of elements -

Mumber of elements:
5

Ol2 & 20| Fixed Constraint A&
~ Equation

Show equaticn assuming:

Study 1, Stationary -
u=0, #=0
# — th

Study &2

x10%




4. Beamdslj| A S St

5)oll 4 2}

7t =

Point Evaluation2 O| &%l Zt &

of xrgrol wW9lE 23

eax Derived Values

&2: Point Evaluation 1
&2t Point Evaluation 2
&2: Point Evaluation 3
&2: Point Evaluation 4
&2 Point Evaluation 5

F |

B2 Stiffness=%

DiSplaCE‘mE‘nt fIEId, X CDmpDnent {m]l, Point & 6*

0.0029922

Displacement field, x component (m), Point: 5
0.0027467

W

Displacement field, x component (m), Point: 4
00022878

O

Displacement field, x component (m), Point: 3
0.0016141

Displacement field, x component (m), Point: 2
7.5177E-4
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4. Beamol| M2 S5t HE Stiffness=X

F F F F F
—> —> —> —> # Ul = 751 X 10_4 m
k1 k2 k3 k4 k5

§
%W\N\' '\NW\' ‘\N\/\/\‘ '\NWL ‘\N\/\/\‘ u2 = 1.61 x103m
\

ul3 =228 x103m

ul u2 u3 ud ub

k1

F —k1-ul+k2-(u2-ul) =0 ul uz2-ul O 0 0
k2

F — k2 -(u2-ul)+k3-(u2-u3) = 0 0 uZ-uluz-us 0 0
0 0 u3-u2 u3-u4 0 k3
F — k3 -(u3-u2)+k4-(u3-u4) = 0 0 0 0 UA-U3  UA-US »
F — k4 -(u4-u3)+k5-(u4-u5) = 0 0 O 0 0 us-u4 k5

F — k5 -(u5-ud)= 0

kl = 8.15 x 10° N/m k4 = 5.34 x 106 N/m
' k2 = 5.68 x 106 N/m k5 =499 x 10° N/m

k3 = 5.46 x 10° N/m

ud = 274 x 103 m
uS =299 x103m

F=2450/2 N




5. Amesim= 0|23} Simulation

1) K matrix2} M matrix2| 2™

k1 =815 x10°N/m k2 = 568 x 106 N/m k3 = 545 x 10° N/m k4 = 644 x 10° N/m k5 = 3.78 x 10° N/m
k2 -k2-k3 k3 0 0 1 -2.7659e+07 1.1365e+07 0 0 0
: . 2 | 1.1365e+07 -2.2274e+07 1.0910e+07 0 0
Stiffness matrix =2 * 0 k3 -k3-k4 k4 0 = & N .
3 0 1.0910e+07/-2.1588e+07 1.0678e+07 0
0 0 k4 -k4-k5 k5 4 0 0 1.0678e+07 -2.0657e+07 9.9796e+06
0 0 0 k5 -k5 5 0 0 0 9.9796e+06 -9.9796e+06
COMSOLO|| M sf{Mot 271 & 74 Lt & o= Qo B = StiffnessE F H| £ AL

Mass matrix = 1 2 3 4 5
1[ 28009 0 0 0 0 M =280~ «10m * 10m = 280kg
2 0 28000 0 0 0 m
3 0 0 28000 0 0
4 0 0 0 28000 o (B BHAH o A2z 280kg/m?* 2t 71Hd)
5 0 0 0 0 28000




5. Amesim= 0|23} Simulation

2) ARflsset RE H

iH]

2%

[M{&}+[K[{z}=0

, [M] [Kl—[ﬂ]andk=m2
(M) K] - M) (M]{X}=0_ /"
MATLAB ‘eig’ &4=E 0|2 [egvec_mat,egval_mat] = eigimat_4)
1 2 3 4 5 1 2 3 4 5
1 35.0547 0 0 0 0 1 -0.1266 03546  -05162 05747  -05115
i | 2 0 2928853 0 0 0 i 2 _0.2968 0.6071 -0.3574 0.2224 0.6051
igen value =, 0 0 7067623 0 0 Igen vector = _0.4468 04138 0.4562 03992  -05115
4 0 0 0/ 1.1449¢+03 0 A 05579  -0.1015 0.4421 06187 0.3167
5 0 0 0 0 1.4680e+03 5 -0.6205 05604  -0.4497 02796  -0.1015
1 2 3 4 5
5 N 1 5.0962 0 0 0 0
—T'—'rr XI_I%T = 2 0 17.1139 0 0 0
3 0 0 265850 0 0
4 0 0 0 33.8367 0
5 0 0 0 0 383144




5. Amesim= 0|23} Simulation

3) 1XIB2 E0f|A| -3 5l= mass damper A 4|

¢1) (géz_)z (¢n)2
M —l'nl( ¢ +m2 ¢' +,..mi(1)...+mn ¢i
1
| AlZ O|2SIH IXIEEQ AL REAHIHZ 7T = U2 igf2 damperZt AX|E[= 2| X2t YX|SHCL 01266
(2} A i=50|0 1XF2 E9| eigen vector= @ 2Zqf ZHCh [2FA| SR TS HIE{ Ol -0.62052 O] HiIE 0.2968
-0.4468

E M3} 81 [ 0.2040; 0.4784; 0.7201; 0.8991; 1]0|C}. O|2 0|3} T E S [} H 72,726kg0| 05579
C Z2FH|uE 0.012 3™ mass damper| X2 727.26kg0| 11 OF2f Q| x| H 3t ZAAIO| 2|5t0] KZte -0.6205
26673.79 ct2 532.022 Folf TICt

it
o Mo TRk

ao = ==
o VIEA) 1t K 26673.79[N/m]
_ 3u B c
= VZU+0  2mym c 532.02[N/(m/s)]
S
L. Tuned M %24, 2015, CEHA XSt X| 3 1| SRS =R T)
2.

d Mass DamperZ 0| &3l Linear Quadratic Gaussian S}0|E 2| & K| Tl(
FREBO| BE Mg AHO| T ATGS 04, 2004, hEI S| =2
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5. Amesim= 0|23} Simulation

4) Amesim modeling

Stiffness, Mass, Force g2 &85t Amesim model 7£31 (2 =2 HO|A constantE HE3SIY2)
2*k1
— 2*k2
M 2*k3
i 2*k4
A 2*k5

T owodt
] ]

Mass DamperZ}t §i= model
*TMD= & BOf7|0] X0 IXfREOoM ZAHeES &

2*k1
2*k2
o 23 o, (Mo BE P K B Stiffness Co B8 A1)
2 2*k4 ¢
- 2*k5 *Sho

Mass Damper= & X|St model




1) 2=&0| 1XtRE N FEl-S3(wn = 5.9962 rad/s)Y o] Zt4| 3 af

- (my | Mmass2port3 - displacement port | [m] — massZpont_4 - displacerment port 1 [mn]
— rmasslport - displacernent part 1 [m] tml — masseport_1 - displacernent port 1 [m] [l — massport 2 - dlsl:plazernem purtr:][m]] 010 o — massZport_14 - displacement part 1 [l 0 I[SH,] — massZport_15 - digplacement port 1 [m]
Du[zmi — mass2por_11 - displacement port 1 [m] 0 Usm— — massZport_12 - displacement port 1 [m] R massZport.13 - displacement port 1 [m 0,08 ] ]
] 004 ] 0.0 0.05 ] ]
0.03 7 D‘Dd—_ 0.04 4 D'DS__
U i = z
10 TR EUI N ] o] i .,-.I||‘I||“ | ] | I o] 1m ] 0,00}
[ "“"'HHHHHHIHHlllH % 1 v e :
001 4 12 p 004 00 -0.05 -
-0.03 o 1 -0.06 o ]
] -0.04 0054 0 : : n
-0, 1 N ) kil a0 0
b WID 2 49 du 0 1b z'n 'w‘b 4'0 gﬂ 0.0 1'u z'n %"U ri'El gﬂ n Eﬂ><: Time [=] L1 1'n 2|ﬂ ?'D AID gﬂ
i Time [s 1 %: Time [5] %: Time [s] %: Time [5]
= =
= 2= 3= = <5&5>
<15> <ZiT> <33T > <43> o
e~
ol2§0| 1AIRE T QXIEA7} Ofel I (wn = 7 rad/s)2 o] 22| 1}
2) Q20| 1K E NS Xz Whn rad/s)el Ujo| Z
[rn] 1 [m] lm] mass2port3 - displacement port 1 [m] ><|[[|m]3 — massZport-4 - displacement port 1 (m]
- — massZport_2 - displacement port 1 [m 3 — = o Inort_15 - displ tpart 1 [ml
[rm] — massZport - displacement part 1 [m] ][Um] — massZport_1 - d\splacement port 1 [m] xlg - — mass2port_13 - displacement part 1 [m] x\ﬂ T | rnass2port i - displacernent port 1 (m] 4 . massdpo isplacement po
HBL%— — mass2port_11 - displacernent port 1 [m] | massZort.12 - displacement port | m) 1 3] .
i 24 ] i
a0 1 | ‘ ‘ | ‘ 2+ || ‘| 0 (! | | 7
] i ! ] I ‘ ‘ || il 1
H \\\ Bl '|\ il A m i i “‘ el T ' np T (-
g | i SN ll 1!| It - i "'\ |1| H i i »H" |
5 f‘\ “w W N " " | | fl l \ N 1l ‘{H ‘ . | \ ||} IjHll ‘ 14 I | I| || ] I\’ |\Hu ' 14
(1L |||\‘|a( A ||\ 1A , m ||‘ l I == | ||\ L]l 2+
-400 ‘ -2 34 -3 -
-600 + 4 Bl J
800 . L 7 i @ a0 & E i & b 4 5 iy & e 4 g . R .
10 ZX T (] ‘1” . 3 Time [s] % Time [s] x: Time [s] : Time [s]

> =
<1=> <2=> <3=> <4=> <5=>




6.

Z4 7
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3) 0| 2X2E AFR IS

[m]

0.08
0,06 |
0,04
0.02 4
0,00 -

-0.02

-0.04

0,06 ]

-0.05

e L k=i

— mags2port_d - displacement part 1 [m]
— mags2port_15 - displacement part 1 [m]

4) ¢=0| 1Xf2E 1

[rn] |
0,08 5

0,06
0,04
0.02
0,00
-0.02
-0.04
006
-0.08

i

I R
¥ Time [5]

il

= A

iS4 o

— mass2pont_16 - displacement port 1 [rm] |

i

T 2In qlﬂ ll1ID

#: Time [s]

i

<Mass damper?2| &>

2(wn = 17.1139 rad/s)Y U 550{| A2

a2z 1}

1XREY SEAH A E Mass damper= 2XtHEQ9| SXIZ
S| 4StX| Z5t= oHA|7F s

2 f (wn= 5.9962 rad/s) U mass damper2| HES

— mass2port_16 - displacement port 1 [m]
— mass?port_15 - displacement port 1 [m]

[ml
0,08

0.06
0.04 ]
0,02
0,00
002
004
-0.06 ]
-0.08 T T T T T T T T

50

#: Time [s]

<Mass damperH =1t 55 H=2| H|u>
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5) 2i0] 3 7|CH= 1t
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Oa

o1 &/ X|

3l XtA| 2] damping2 1124
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jo0

L
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£ 0| &390
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3. 7}k Critical

3Qc
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